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SN RSN
HM: BSAMHEHO SEXHO AZ(ZEL XML /NALEA)
o9 REMo BEN 29 CERT
SNBSS (BH) - MEAY - B2 (ggz::) @(ijf;ﬁ% HRE2
405 XHAHF S H| 3,000 0 3,000
01 ANHMLEEFSHI 3,000 0 3,000
= 0l & 3,000 0 3,000
OZSMSSAX IDIHE HE ZElg)| 2
3,000,000& 3,000
RS2 FUE S 39,982 39,482 500
201 et A | 31,482 31,482 0
01 Ar®2teltl 31,482 31,482 0
= 0l & 31,482 31,482 0
ONESE3 MEN G2 ZHEII4+2
5,247 ,000& *321 x2JH At 31,482
207 AR oH | 8,500 8,000 500
01 H3E49Y| 8,500 8,000 500
= 0ff A 8,500 8,000 500
OMLH SME=E 29Y| 850,000& 103/ 8,500
SSAHNHSE MDD 18,965 0 18,965
101 ol A H| 18,965 0 18,965
04 JI2ZtHZ22XANAsSE =+ 18,965 0 18,965
= 0ff A 18,965 0 18,965
OFSAHHAHXUAN B2 Moy BX I
ZHHIZ2 2 X 214 | 15,374
EAR==1 6,470 xBAl 2tx1H x21d x 11 & 11,957
—F=5x4 6,4703 xBAI 2 x1H x5Fx11& 2,847
— X 6,470& *8BA| 2t x1H x11& 570
OFRSAHANAHAAN Hol Mo BX T
ZHHZ22 X M=z 1,855
il ==1 7803 *8A| 2Hx1H »21d x11& 1,442
—F5g 780 *8AI 2t *x1H *x5F=x 118 344
—AXEE 780 *x8Al 2 *1H x 118 69
OFSAHHAHXAN 2ol Mara BX 7
dHZ2EX BES 1,736
—=30d3 17,226,000& *45/1,000 776
—HLEE 17,226,000 *30.6/1,000 528
—LOIMIRAESE  527,000& *65.5/1,000 35
—NEEE 17,226,000 «15/1,000 259
—MHEE 17,226,000 *8/1,000 138
MEFAMA 2= 204,450 139,747 64,703
S 20,000
== 6,400




SN RSN
HM: BSAMHEHO SEXHO AZ(ZEL XML /NALEA)
e MEAAHA 2= (e &
SNBSS (BH) - MEAY - B2 ijgjj) @(ijf;ﬁ% HRE2
Al 178,050
MEA(AHS, T2 HT)2e 198,050 139,747 58,303
= 20,000
Al 178,050
101 [Slals] 18,965 17,291 1,674
04 JIZtHIZ2Z2XNSE S 18,965 17,291 1,674
= 0l & 18,965 17,291 1,674
OASHS T A L DBRSAME X D
2HRIZ2 2 X 214 | 15,374
—-Jl2= 6,470 xBAl 2tx1H x212 x 11 & 11,957
—F534 6,470 xBA| 2 x1H x5F+11& 2,847
— X 6,470 *8BA| 2tx1H x11& 570
OHASHSE TAH & DBRIAIYE Ex D
ZQHHIZ22 X M=z 1,855
—-Jlzga3 7803 *8Al 2x1H*21L x11& 1,442
—F=54 780 *8AI 2t x1H x5F 11 344
— X 7803 *8AI 2t x1H x11& 69
OASHS T A L DBRSAMYE X D
ZLHIZ22 X B8 1,736
—=20d3 17,226,000 *45/1,000 776
—H2AEE 17,226,000 *30.6/1,000 528
— oI RAESE 527,110 *65.5/1,000 35
—101s88d 17,226,000 «15/1,000 259
—MHEE 17,226,000& *8/1,000 138
201 282 A | 87,346 27,192 60, 154
01 Ar&2te2ldl 81,540 21,540 60,000
= 0l & 81,540 21,540 60,000
OZ2Y T4 EEE 2 MUK HME(H
PNE=DESDNE=:D)] 80,000
— HIE 15,000& *x2,0005 30,000
—&XE 1,000& *50, 0005 50,000
OE2g=:=A L XNYAKAS 3o F#F&E2Y
70,000 *11H 23] 1,540
02 =324l 5,806 5,652 154
= 0l & 5,652 5,652 0
OE2Y A FEBISAAE RINE4
471,000& x12& 5,652
=Z13 ( 5,806) 5,652) | ( 154)
OADIEKAIS 292 fIst S4lt]
15,4002 52 20H | ( 154) 0)] ( 154)




SN RSN
Hu: DSMUEO BN B2 (RELNANL/NALA)
Sl MFEAXA 2= (cte ®
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
202 4 H| 2,400 2,400 0
01 =2LHA I 2,400 2,400 0
=01l 4 2,400 2,400 0
OEZ2E A ANEE2 2HEA K|
20,0003 x4 30 2,400
203 YR F=AHl 2,100 3,600 A 1,500
03 AHMFAHIFAH 2,100 3,600 A 1,500
= Off & 2,100 3,600 A 1,500
OEZ2YFA MESAMRNILZ AL RS AN
cH HF S MEFA 175,000& »12& 2,100
308 XXSHMSOIH 16,553 15,981 572
10 SI/2SHCHSHE & X CH e At I 16,553 15,981 572
= 0l &F 16,553 15,981 572
OEzYF4A HEFAY 13,472
—GISUZA S/W X2 2,387,000& 2,387
—2IFL2HBANAH(KAIS)2 I X
11,085,000& 11,085
OZZ2YHFA AXNFTEHE HEAMY
3,081,000& 3,081
401 A&BIZ =208 70,000 73,283 A 3,283
= 20,000
Al 50,000
01 AI&EHI 70,000 72,500 A 2,500
£ 20,000
Al 50,000
= Ol & 30,000 72,500 A 42,500
OZ2ZEFA ANEE2 4X & RAES
30,000,000& 30,000
=313 ( 70,000) 30,000) 40,000)
(S 20,000) 0) 20,000)
(Al 50,000) 30,000) 20,000)
OIS T2HH 5 AUAIE &=
40,000,000& |( 40,000) 0) 40,000)
(S 20,000) 0) 20,000)
(Al 20,000) 0) 20,000)
405  RHAHHE S HI 686 0 686
01 A& SSFHSHI 686 0 686
=313 ( 686) 0) 686)




SN RSN
Y 2SN SN0 A (B ELXGML/RNALTA)
Sl MFEAXA 2= (cte ®
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
OADIEKAIS 22 /I8t 2D 2
343,000 *2CH | ( 686) 0) 686)
2R FHSEH =X 6,400 0 6,400
= 6,400
401 A&BIZ =208 6,400 0 6,400
= 6,400
01 AI&EHI 6,400 0 6,400
= 6,400
=313 ( 6,400) 0) 6,400)
(= 6,400) 0) 6,400)
O=HX&EHSH AX 6,400,000& |( 6,400) 0) 6,400)
(= 6,400) 0) 6,400)
HE S AKX A 128,508 103, 149 25,359
HEBAI RO = A 128,508 35,875 92,633
101 o124l 77,565 31,435 46,130
04 JI2ZtHZ22HSE* 77,565 31,435 46,130
= 0l & 77,565 31,435 46,130
OMNESAIRI HREX JI2ZHZZ2 XA 2l
als] 62,890
-JI2= 6,470 3 x8AI 2t x9H x21 U x5 F 48,914
- F5¢ 6,470 *BAl 2tx9H x5 +x5F 11,646
—x=g 6,4702 x8Al 2tx9H x5 & 2,330
OMNEZSAXIL HREX JI2tHZZ A M
23 7,582
—JIE2= 7803 *BAI 2t x9H x212 x5 5,897
= 7803 *BAl 2Hx9H 5= x5F 1,404
— XY 780 *8Al 2t 9 «5H 281
OMNESAIRI HREX JI2ZHZ 2N B
= 7,093
—=324H3 70,470,000€ *45/1,000 3,172
— 22 70,470,000& +30.6/1,000 2,157
—LoFINRAEEH
2,156,380& *65.5/1,000 142
- 1NES2H 70,470,000 *15/1,000 1,058
—&HEE 70,470,000 8/ 1,000 564
201 LBt 49| 50,943 4,440 46,503
01 At 2eltl 50,943 4,440 46,503
= 0ff &F 50,943 4,440 46,503
OMNESAIXNIN BE++2 28,832




SN RSN
HM: BSAMHEHO SEXHO AZ(ZEL XML /NALEA)
SR HESAIKIIE Z A (CHe &)
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
— MEXINES 24,050
Hol=
37,800 (42,0002 X| /43)*0.5%1.1 20,307
= AlE 37,8003 *600& X[ x0.5%0.3*1.1 3,743
—83L23 4,782
OlAME (23])
37,800& x100Z X *0.5%0.3*1.1 624
- 012 &I A (23])
37,8003 *200E X *0.5%1. 1 4,158
OMESAIXIN AoXtg L HAXE oY 6,850
— Ao A= 650,000 *53] 3,250
— XNIJEAN 150, 000& *2400 = 3,600
OSSMNABASNS 810 AL
70,000& *12Y 53| 4,200
OME SAIXII A F=A 11,061
—HESAXNI 28 222 HH
1,200,000& *63] 7,200
— HESAIXIDI EEEH ROl 3,861
cE2H X 99,000& *34f Xt x33] 891
cE2H Y3 99,000& * 1024 x33] 2,970
HH2HAAL (E=SADH)(IIEH/IIE 60,341 0 60, 341
Jl=23tl 60,341 0 60, 341
JlE2&| 60,341 0 60, 341
201 AE2AH| 24,171 0 24,171
01 Ar®2t2ldl 22,680 0 22,680
= 0l & 22,680 0] 22,680
ORANESYE JEdHl 22,680
— 2 Hl=2H| 40,000& x21H = 12& 10,080
— = 2| 50,000 x21H x12& 12,600
02 =324l 1,491 0 1,491
=&313 ( 1,491) 0) 1,491)
ORER= ( 1,491) 0) 1,491)
- Sl 1,960 x100H «6& | ( 1,176) 0) 1,176)
— bt 350 «150H 62 | ( 315) 0) 315)
202 0| 30,240 0 30,240
01 2L 30,240 0 30,240
= 0l & 30,240 0 30,240
Og2=& I8¢ | 120,000 *21H = 12& 30,240
203 Y= 4,200 0 4,200
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